Stacking Matrices

Hereinafter the following convention is used:

Operation Description
horizontal Stacks the given matrices horizontally. The new matrix is n-by-m+k matrix.
stack )
given:
Qoo - Qom-1 boo = box-1
A= ,B = ~ . :
Apn-10 - Qpn-1m-1 nxm bn-1.o bn-l.k-l

nxk
the result will be:
Qoo - Qom-1 by *  bog-1

Qn-10 = C@n-1m-1bp_30 - bp-1x-1 ———

Returning result:

@HorizontalStack(Matrix, Matrix)

Out of place:

@HorizontalStack(Matrix, Matrix, Matrix)

vertical stack  Stacks the given matrices vertically. The new matrix is n+l-by-m matrix.

given:
Qoo -  Qom-1 boo - bom-1
A - E " E ,B - H . .
An-10 = Qn-1m-1l,.m bi-10 ' bi-1m-1 —

the result will be:

- Qoo Qom-1
Qp-10 - Qp-1m-1
boo = bom-1
[ D10 bi—im-1 dn+yxm

Returning result:

WVerticalStack(Matrix, Matrix)

Out of place:



@VerticalStack(Matrix, Matrix, Matrix)

diagonal stack  Stacks the given matrices diagonally. The new matrix is n+l-by-m+k matrix. The values of the off-diagonal blocks
are unchanged.

given:

Qoo - Qom-1 boo - box-1
A - E 3 E ,B a— - % H
Qn-10 = Qn-1m-1 nxm bz-1.o bl—l.k—l Ik

the result will be:

Qoo Qom-1

Qn-10 v Qp—im-1
boo b0k—1

bi-10 - bl-l-k-l-.:jn+:3.x.:m+kj.

a
4 By _ small Greek letters are used to denote scalars;

4 WUW_omall Latin letters are used to denote vectors;
AB,C . . .

4 — capital Latin letters are used to denote matrices.

Methods

diagonally.



